B2/ MEE R SRS FESARFEIE 4 R CHE

R |SNo|#Ef B 4y |TB1|TB2|TB3|TB4
1 | 6 [Fas B ELHERCIE) sf16] 0]15] 12
2 | 12 |FUREE | EEAE LR 4116101412
3 | 15 [EF{Es [rearE gghEE 41161 0] 14] 11
4 | 24 |8z — | BRI EE L HE 41150 013]11
5 |26 |EEHH | EEIISEKEFRER 41101 0[10] 9
6 | 21 |BIFEsE | R B BE T S HE 41100 0[9]7
7 |17 [BESE N R 2 3[15] 0] 14] 12
8 | 22 |BiEbk |4 ARE(T BHE) BIFE L HER 3114 012110
9 [ 1 I8z [(BEAgHLEHSEIREI L HEE 31131012110
9 [MEZE TiiERE L amyHEE 31131012110
11 | 2 [(T2E [nEEahiEEcE ) 31121 0f11]10
12 | 23 |Z0EE (45 Fan B AnHERE 3111]0[10] 8
13 | 5 |ZFHHE |BARYIMEE 31910817
14 | 8 |AEFH |SEBFELIHEE(EZED) 20161 0]14] 11
15 | 10 [BBkEE (42 Fan(n S ) R4 5 211510 14|11
16 | 18 ek |fEAEEpELN L E 21151 0] 13]10
17 | 7[R [&EEPCRERREHaREYHER 21121 0]11]10
18 | 11 |Apirtyr |EEEESYMRE B 20111 0]11]10
19 | 25 [Bra [FHEEEahEE (B 2111l 0f10] 8
20 | 14 |FFfhE (BRI A EEIEED 21101 0]10] 9
21 | 19 [EEalE |22 E4hrERE 11131 0]12]10
22 | 4 | FEEE |2 ESHE 1[{2]o0f11]10
23 | 20 [E=0REE | EERERAIHER 1111 0]10] 8
24 |16 |38%  |5AIrER 1{10]0]10] 8
25 | 13 [BA) |56 raniEE 1{o]lo]9]s
26 | 3 | PR HERE (BT R 0[10[0]9] 8
PEEY <

TB1: Buchholz Tie-Breaks (variabel with parameter)
TB2: Direct Encounter (The results of the players in the same point group)
TB3: Buchholz Tie-Breaks (variabel with parameter)
TB4: Buchholz Tie-Breaks (variabel with parameter)
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